MODEL QUESTION PAPER (MATRIC LEVEL)

Matric Level
Max-Mark : 150 AOC Secu nderabad Duration : 120Minutes

ORDCRA

General Intelligence & Reasoning

. Pointing to a photograph Lata says, "He is the son of the only son of my grandfather.” How is

related to Lata?
| T IR T 3R FURTHFIA G AT Fecll 6, TE A ael
HEHATTaTE FE Fafad g

A.. Brother / 31T B. Uncle /

C. Dataisinadequate /2eT3qacad D Cousipy T sy

. Inan examination Suman got marks equal to that of Kavita.
Suman. Who got the least marks?

/T g i e & T & 3
3 GAA A HA ¢ | FIH FA 375 9

A. Suman / FHeT
C. Meena /#rar

prian in the photograph

ZXCMP & &9 & Shifed fhar

A. AWDLQ/AWDLQ
C. YYBNO/YYBNO

. 10/10
. 15/15

theseries 5915233345 72

Gt A § S Gl A o HET AT HITTT5915233345 7
B. 57/57
D. 55/55
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7. Renuis taller than Veena but shorter than Aditi. Anu is shorter than Veena but taller than Meena. Who is the tallest among
them?

RO & o & e i oI | I fom A oY @ oifehe e A oEh 7| A A IR
CLEIECEY

A- None of these /SR A IS T B. any |3
C. Vegna /dorr D. \eena /&

A. Archana / 3T
C. Bharti/ TR

£ | 31ToMe o 37 T T STeT | FX FH H ST 3
R 376 ST el ¢ | R AT AR G0 6 1 o 37k 1ot
AP ngo

B. niknil/ @t

D Aok / 31Tel

JKJI, 7 EDC/QPO,NML,KJI, __?_ EDC
A./JKL / JKL B. GHI/GHI
C. CAB/CAB D. HGF/HGF



16.

. Awatch reads 4 : 30. If the minute hand paints East, in

You are walking down the street and suddenly you see two hundred rupee notes on the pavement. What action will you take
? (a) Pocket it yourself. (b) Leave it where it is (c) Give the money to a beggar, (d) Deposit it in the nearest police station.

|39 A AT TR T 3T 200 TR A T RN | (g) HUA ST AT ol | ()

TETWE TR IS G & (o) T Forvedt Brardr g & () IS A FATHETE |
A GG B. D/D
C. B/B D. A/A

0.15,0.3, 7 ,1.2,2.4/0.15,03, 7 12,24
A. 0.9/09 B. 0.006/8
C. 48/48

| T T8 w0 T gEY e g, e
feamagrem?

A Norh-East/ Wflﬁ
C. south-£ast /0T - 93

,BCD4, B5CD, BC6D

B. BCD7/BCD7
D. BC3D /BC3D
@ . dentsare their in the class?
AGGIE 134T EUT & | 3eTah! heT A

B. gkms /s &
D. skms /s A

KUU /CMM, EQO, GQQ, ____, KUU
B. ITT/ITT
D. GRR/GRR

#4), ... What number should come next? /2, 1, (1/2), (1/4), ....... 3TT3Y 0T & 31T TMTRT?

A. 0.16666666667 / 0.15666666667 B. 0.33333333333 / 0.33333333333
C. 011111111111 /0. 11111111111 D. 0.125/0.125



23

. Choose the correct alternative from the given ones that wil complete the series ABC, PQR, DEF, STU, ?

(frTold vea &, Uk A@ol aar g | U are fawed! # & &g fadhew T St Ao I g
&3 ABC, PR, DEF, STU, 7

A, K/ K B. GKL/GKL

C. VWX/VWX D. GHI/GHI
Choose the correct alternative from the given ones that will complete the series. §
| ol weat &, 9ol 9 # U STell A1ea &
e ot S ST T HMN 13, 24, 35,46, 68

A. 67867 B. 4/

C. 58/58 D. 57/5

A. 53/53
C. 73/73

QAR, RAS, SAT, TAU,
A. TAT/TAT
C. UAV/UAV

/ OAR, A

as far a e of (?) , which should show the e

ot




26.

30.

31.

s
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34,

-1+ Calculate the correct answer 126315 - 87924 = 2 X 67 / Hé’f3rﬁ?ﬁ'ﬂﬁw 3

=0 Calculate the correct answer (- 3t - 35- 37) + 18+ 17= 7/ F@Y 3

* Calculate the correct answer 8.31

Numerical Aptitude

The length and breadth of a rectangle are in the ratio 3 : 1. If the breadth is 7 cm, then the length of the rectangle is

| O 3Tl 1 e AR TS 31 I AN 8| 3R ers 7 g, o e b ofeTs FT e
A. 18cm/18cm B. 16cm/16cm
C. 14cm/14cm D. 2tcm/21¢cm

A. 684/ 68t B. 661 /661
C. 51513 D. Nong of these /1S

A. -138/-138 B. 68/6
C. -103/-103

The areas of two similar triangles are 81 5q. cm 2

ECIciEt EIET e A3

A. 97/97
C. 81:49/81:49

A. 40/40
C. 48/48

A. 43143
C. 45/45

A. 8.919/8.919
C. 8.921/8.921

7X 87/ TR 3 T I0TAT & 10531 + 4813 - 728.= 7 X 87
B. 186/186

D. 172/172

B. 360/360
D. 480/480
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38.

39,

40.

41.

44,

- Calculate the correct answer 87146 - 66424

. Calculate the correct ans

. Calculate the correct answer 301.4036 + 2321.987 - 1003.687 = ?

| FEY S chT ITUTEAT e 301.4036 + 2321.987 - 1003.667 = ?
A. 1619.7036 / 1619.7036 B. 1618.7036 / 1618.7036
C. 1619.736/1619.736 D. 1619.8036 / 1619.8036

7:12is equivalent to / 7: 12 R e STeR &
A. 72:4272:42 B. 42724272
C. 42:71/42:71 D. 28:40/28:40

A shopkeeper purchases 15 mangoes for Rs. 10 and sells them at 10 mangoes f
| U GG 10 798 & 15 31H @EATg | 3R 3¢ 10T i
g7

A. 80% / 80% B 50% /509
C. 100% /100% D. 75%/75

A ratio equivalentto 3: 715 /3: 7
A. 6:10/6:10
C. 18:49/18:49

A None of these / 1S 3
C. 7176 /7178

Calculate the correct ansy

E:RERGLEIE
A. 243/243
C. 81/81

04+94274+27+27="7
B. 162/162
D. 117/117

A. 1/1
C. 3/3

)

A. 5040 /5040
C. 5028 /5028

Y+ 3220 =7+ 1203
B. 2639/2639

D None of these / TS w1

=7 | FEY 3cak &Y ITUTAT Y 8878 - 4125 - 1157 =2
B. 2186/2186
D. 4185/4185

8378 - 4125 - 1157



45.

46.

47.

48.

49,

50.

Calculate the correct answer 5555
A. 6165/6165
C. 6665 /6665

Atank is 25 m long, 12 m wide and 6 m deep. The cost of plastering its walls and botio

AT ferelt &7 (coreet i oot 7 SR wia g X )

A. Rs458/Rs 438
C. Rs558/Rs 558

A cyclist covers a distance of 750 meter in 2 minutes 30 secondp

| U AT3 Tl dTerd 2 fAee
AwfdFaTg
A sokmi /19 A
C. g kminy 16 Tty T

10 km/hr / 10 ToRR
C. orkmiv 27 R

Two pipes A and B can
taken to fill the tank is?

A omin /12 B
C. somin /50 BT

+555.+55 = 7 | TEY JcalK T ITUTGAT &h 5555 4+ 555 + 55 = 7

B. 55555 /55555
D. 65556555

al\75 paise per sq. m, is
AR 5 CEIEE)
B. Rs568/Rs 568
D. Rs4s56/R

N HRS A 750

12 days. The same job can be completed by a team of 10 women
pd the job if the two teams work together?

F a9 &7 1 o o el ¢ SHY TR T 6 el 7 10
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52.

54

55.

56.

57.

59.

60.

6l

. Murder of mother 2 / -

. Love s often madness. /-

General English

Synonym of Depressing is -
A. Melancholy /- B. Hamony /-
C. Rejoicing /- D. Juoilant /-

Synonym of Shining is -

A. Dreary/- B. Murky /-
C. Dusky/-

A. Polyglot /-
C. Matricide /-

A person who comes to one country from anothe
A. Wardrobe /-
C. Emigrant/-

He is not dependent his pare
A. with/-
C. of/-

How many Tense 2
A, 6/-
C. 4/-

Circus : Entertainme
A. Working /-
C. Worship /-

A. compared for /-
C. comparedon /-

He pain in the stom
A. complained against / complained to / -
' . complaind of / -

B. Dermatologist / -
D. Volunteer /-

ake logical sentences:- for, are, the, searching, they, robbers /-
\\d ¥e robbersfor. /- B. They searching for the robbers are. /-
Bfobbers searching. /- D. They are searching for the robbers. / -



62. Arrange the following words to make logical sentence:- not, your, fill, I, book, today, had, received / -
A. Ihadnot received your book il today. ~ B. Ihad not received your till book today.
/- &
C. Ihad receved not your book tilltoday. ~ D. I'had received your book till not today.

/- Jis
63. A Word which is correctly spelt is -
A. Accommodation / - B. Accomodation /
C. Acommodatio / - D. Acomodatig

64. Arange the following words to make logical sentence:-
A. Those have gone from here boys. / - B.
C. Those have gone from boys here. /- I,

65. Arrange the following words to make logical sent
A. We know you are annoyed with us. /-
C. We know with us you are annoyed

66. Synonym of Manageable is
A. Simple /-

C. Humble /- " Prevent/-

67. Antonym of Extreme i

A. Timid/-
C. Moderate /

@

Casual /-

68. Antonym of Elegant

~A. Clumsy /- B Evide

C. Dainty /- : 3
69. Honest man will speak fruth. /-

A. none of these /-

C. the/-
70. 1 have no objection youl e

A. in/- B. on/-

C. to/- . with /-
71. Antonym of Integprefiis\|\

A. Misinterpret /\-\ B. Decipher /-

C. Fatilitate D. Reveal /-
72. lamever so grate ou for help. /-

A. to/> B. from/-

C. at/ D. wih/-
73. Heisinterested’serving___ Army. /-

A. to/- B. of/-

C.in/- D. with/-



74.

TA

7.

78.

79.

80.

ST

83.

84.

86.

Antonym of Extensive is -
A. Limited/- B. Ordinary /-

C. Little/- D. Restricted /-

. Arrange the following words to make logical sentences:- iry, her, o, best, will, o, she /-
A. She will do her try to best. /- B. She will try to go her best / -
C. Shewill try to her best do. / - D. She willtry do to her best. /-

A narenn who leaves his own country and goes 1o live in another 2 /-

A. Mammais /- B. Immigrant /-

C. Wardrobe /- D. Emigrant/-
He was elected chairman the boarg. / -

A. lo/- B. n/-

C. for/- D. of/-

The Chaimanis il andwe willhaveto __ the meeting. /-
A moff /- B. outaway/-
C. putof/- D. puton/-

Arrange the following words to make logical sentence:- is, know, Ram, 1, that, nonest / -
A. |know that is Ram honest. / - B. | know that Ram is honest. /-
C. |know honest that is Ram . /- D. 1know Ram thatis honest. /-

Arrange the following words to make logical sentence:- for, shock, was, we, great, a,it /-
A. Itwas a great for me shock. /- B. Itwasa great shock forme. /-
~ "Iwas a great for shock me. /- D. It was shock a great for me. /-

Incapable of being avoided ? / -

A. Conlemporaries / - B. Hve/-
C. Inevitable /- D. Wardrode / -

. The news Se—e by h'm i
A. have brought / - B. has brought /-

C. wasbrought /- D. were brought /-

Rama is a good girl. Which is the noun in this sentence ? / -
A. Girl/- B. Rama/-
C. Good /- D. ai-

| went to sleep the film. /-
A. a/- B. during /-
C. on/- D. ini-

. lam Indian but he is an European. /-

A. the/- B. none of these /-
C. an/- D. a/-

Apni comes March. / -
A. behind /- B. after/-

C. across /- D. beyond /-



@7 % =-==1=-=rison longs _ freedom. /-

A. at/- B. on/-

C. about/- D. for/-
88. lhavegot_________ beautiful pen. /

A. the/- B. an/-

C. al/- D. none of these / -
89. A queue of people were wai us. /-

A. for/- B. of/-

C. on/- D. at

9(0). The ice-cream tast
A. from/-

9].
owards /
92.
D. of/-
93, diet. /-
B. spicy /-
[D. balanced /-
04.
B. on/-
D. by/-
95. e was asking you. /-
B. about/-
D. lo/-

riding a bike for a year. / -
B. with/-

D. on/-
is___useful animal. /-

% The old lady thanked me helping her across the street. / -

none of these / - B. the/-
an/- D. a/-

A. about/- B. with/-

C. for/- D. on/-
99. He agreed all the proposal we made. / -

A. on/- B. at/-

C. with/- D. to/-






General Awarﬁh@a

101. The treaty of Snrangapatna was signed between Tipu 34
1&g e AR e e e Sy
A Robert Clive | Uaé Ferrgd '

C. Comwalls | HaTTord

4 . o '
W22 Einance commission is establishe
A~ Finance Ministry /

103.

104,

103,

& gTal & (o 13187 & HUFH eI Fldrg?

3
p. 8686

e aaTe, A s v afdg &
B Tapla player | Feren aTe
D. Bansuri Player T ares

107. ked after? | Hanat & WA, AR gl A FT1 g@HTH A1

anue/HA T B. state treasury | T &1 @ATAT
gsehoid | ATEY BT D miltary affairs | = ATHS
10 oroMes's is caused dug 107 | FRF & FROTRATE?
‘ B- Fungus / shaeh
C. Bacteria / YR D- s raraE
109, 1n which of sail does Maize grow well 7 | AT T R A s s ATawfBa g
A Black | el B. None of tese | SR A RIS A8
€. 0 Alwial | TR STE D. sangy sai 1 Yl gt
110, who s not a famous crickter | T T UFAE rdre T AgT &
A. Rahul Dravig | TTg e 5183 B. panksj Advan | deat 3TEaToft

C. s Dhoni / TH TH &= D. Gutam Gamohir 1 s ey



11

2.

14, |

6.

17.

118,

120.

* What is the ranking of india in terms of popula

Who founded Maurya Dynasty ? | et st Trsvger Y wamaan &
A- Bindusar ﬁgﬁﬂ B.. ashox / e
C. Bempisar ZHfAER

A seience ) AT
C Arls | &l

A s months /6 FE
C. Ayear ' TS

D pajasinan | TTEUTH

& Indian shooter who won 4 gold medels in 2010 Commonwelth Games was?

| Fo AT 2T A 2010 TSCHSS W « HNel Teah SAreft AT
A pohinayBrigra/ ¥R R B susikumar gl AR
C. Gagan Narang | ITaTeF AT D arun Atv.'al‘HG_ﬁ’?f Heare



:mﬁﬁﬂﬁmmﬂmﬁ 3

A. Buming of Leaves

afeaar &1 FFAT
" deforestation | I Y FETS

m

. a o\ \\,-ky.','. mwiﬁ‘f

123 \Which animal carmies its young i3 } 5
124, |ﬂdé?mieme 4P B ik /) ‘“\%\\\ f %7
] &6\\

Q‘\m‘ \\\“

\)\ T e
} 1T 3gUY H AT HgIATE?

- Violet  §3TAT
D. Green g

126. Which colour occurs In the myadie
A. Blye /AraT
C. orange e )

T & S F G R FET S 87

B. Nore @S 78T

D. \ahatma Gangni | FRTCAT aTTed

e -
'\\,ﬁ‘ D avad /3@
‘ \4 ni sanctuary is located in which state? mﬁmmmﬁﬁ:&mb
skm | FRTFFH B Guarat 7RI
C. Nagaland | ATeTTels D. assam/ 3r@H
130. \which state has smallest land zrez 7 | R TST A TaR A HA AT &7

A. Tnpura.ﬁ'g'{'f B. Nagaland | FITAE
C. Goa/aar D. sk ABFH



138.

139.

140.

© Where is Pongal celebrated ? / GT3TeT Shgl HATIT SATAT &7

+ Which is the largest bird of world ? / fdF=T H &

-+ Whatis the Capital of Tripura’ ? / T3TqRT & Ity FaT 87

A pgartala / 31T B. Myanmar/ 7oA

C. None of these / 3737 & 1S o7& D. Kohima /#fRAT

A barometer is used to measure ? / Teh SRITHATE T ATG & [oIT
A- Wind Speed / gar Fr arfa B. wind Direction
C. Temperature / dTIHT D. Air Pressure

A. Rajasthan / TSTET
C. Kerala/&ar D.

The ratio between the length and breadth of our tricolo

| i 3R g o T e e
A. 3:4/3:4
C. 33/3:3

Which is the largest fresh wa
A Wular Lake gﬂ'( ZN
C. pallake/zaT 3t

A. pelican / gaTdTer

C emu/Ts
fo)

Which state is not a part of seven sis
A Nagaland / TaTTel

C. Meghalaya / D. west Bengal / IR FaTTer

Which reason is causing 1§ ( TR TIRAFABTET &2
A. Cutting of B. Earth’s Temperature
| GLdY T ATIHTA

D. plantation / g ST

A. Rupees / B Euno iy
C. Us Dollar / 37BN 3FeR D. poyng/dfz



141,

A+ Afnca 1 3TsRreRT
C. asia/ofRmT
142, Adun award is given .‘or7r3'TTﬂ? IUERR 196
A Cinema / fa=aT
C. Literature / BT
143

Din-e-llahi’ religion was foundeg-sy

A. ghah Jahan /2
C. Aurangeb / 3R
|44,

C. Forest / STaTeT

146, \which is the fastest animal on 13

B. peer R

A Kangaroo f et

D. Cheetah / Hrar
147 T ue FEg EEfaa g
B. MK Gandhi | waes ey
D. Vinowa Brave / RI=TaT 51a
145. RY¥ was Kesarl, a newspaper started? | LY o HTST A Uah 3r@aR U foham am
' B. Marath (7S
D Hingi / &Y
149. " \Wwhich is the national bird of India 7 / 3T T e qafy &
A.. peacock / AT B. pigeon FEH
C. parot/arar D. sparow /7T
150 whatis the Capital of US 7/ AR Y U= T &7
A Honkong / BTITERIAT B. wasnngton DC / arfRYeareeT S &Y

C. Welington / SfeiaTeT D- New vor | =GR



